Name \Q¥ Class Date

Name the property of real numbers illustrated by each equation.

1L.1=n 1/n 2.alb+e)=ab+ac
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3.4-@8x)=32x 4.9=q- 22
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5. Every day, a soup kitchen prepares a certain number of servings depending on
how many people they expect to show up. What set of numbers best represents
the number of meals they prepare each day?

UL\UV(Q

Write an algebraic expression that models each word phrase.

6. w split evenly 8 ways

w/fg

7. the product of 11 and the quotient of 4 and a number »

8. the quotient of the product of 3 and a number ¢, and the difference of 5 and a number ¢

3t/c ¢

Simplify by combining like terms.

9. 8x + 4y -3x +2 10.-3 + 24 -3 11.2/3p —dp
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12. 9y + 2x —4(y + x) 13.3(r +5) - 2(2r - 4) 14. 9j—(j — 3/ + 8)

&y - 2 P+ 23 -4

Write an algebraic expression to model each situation.

15. You buy bananas at the store for $2.75 per pound, and you buy apples for $1.33 per
pound. You pay with a $50 bill. How much change will you receive if you buy b pounds
of bananas and a pounds of apples?

SO-0.75% +1.33 4



Solve each equation.

16.%+3=-3 175 =2+x
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19. 5 —w =dw —1 20.3(s+3)=3s-0
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22.8z-+12=5(z-2) 23.7h-06(11-2b)=10-3b

2zZ -4 Th~4byin6=10-3b
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Solve each formula for the indicated variable.

25. F=-k - x, for k 26.V = %mjh, for i
pa=F A=3 V.
X 4 7'{'7-3

Write an inequality that represents the sentence.

18.2.5y =15
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21. 2(x +5) -2(x -7) =24
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24=4Y
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24 10k -7 = 2(13 =5k)
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27. F =

for d

28. The distance the product of -12 and a number is away from zero is less than 6.

%% < 4

29. The sum of a number and 2 is no less than the sum of the 4 and the product of

9 and the same number.

tn 2 L{f-c(r)



Solve each inequality. Graph the solution.

30. 3x+7> 1 3.7t + 4<3¢-1 32,10 <2(x+4) < 12
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Solve the following:

33.42x—1|—-2=10 34.|5x — 3| =3x+4 35. |x|+10=3
(-1l = 3 N3 Y33y x| =T
Ax-(=3 xl=-3 X:;?_ )(:—l/(g M
X2 x=dy [i-e-E
9-1=3  1-as)23 v

Solve each inequality. Graph the solution.

3. |x+1|+3< -7 37. 13t +8| =>4 38. |x—3| <9
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39.) Write and solve an absolute value equation that represents the following situation.

“You are 50 miles from the location of the nearest cell phone tower and are driving towards it at 20
miles per hour. You will have cell service when you are within 10 miles of the tower. What are all
the times that you will have service if you approach the tower and then drive past?”

1$0-206E] £10
So-a0ttly  so-deti-

£22 and €43



PRI S L ey gy iy oY
?5‘2)?4%1 5# J‘r{,}wv T ! (PL) 'S " 75J’MU\) W] ;}\1”0\7\103744_}@5

Guonesydiynu Jo wloy Jayjoue isnl UoISIAIp sayew
Auadoud 18ypp ¢uomppe Jo wioy Jayjoue isnl uoioengns sayew siaquinu [eal ay) jo Auadoid jeypp (o

X
(54 | ) g apas s 10597 vy yyim [w}%?y MM~ S
(E( 7}X\7 \"'H,;}SB] MYA vjﬂ]afc(wa V’p\ﬂ}‘m J“ﬂ?ﬂ I m — }M/V

saniienbaul anjea-ainjosqe yym Buijeap uaym saiijenbaul 4O
asn am op UaYp) ¢Sailenbaul anjea-ainjosge yim Buiieap uaym saiiienbaul Ny @sn am op usypa (g

_}W 3, v5ep } yv2 4,vsaed ¢ [PV0039H)
rdad 3120 5PV Gy
s/wml,d < ¥

Jeuonelll U S ) uaym pue ‘Iaquinu [BUOIRI B S} USUM ‘1aquwinu |Bal e SI [BLIIDap B usym uejdx3(e

‘Buimoyio} ay) Jamsue Ayalg ONILIEM (L

1 vy

3
'a,
) j: \')a 7Y d T
E A 7y
Ly Ly I g- s < b 2
"9E8ILT = d (@ PSEVE— (P 1ZIpE— (0 szep (g z-(e

Jabajul =| |BINJBU=N S|OUM=AA [EUONELI| =1| [BUOIRI=BY |Bai=Yy 'Siaqunu Buimojjoy sau) Aussen (oy



